
set 0 AREA:  Lag B'Omer  start=170447 tc = 4760 numrows = 18
numcols = 7 cyl_size 4760 comp = 1.260000e+002 (1,1)

Lag B’Omer xnra bl Meron oexn

Rashbi iayx

3/19:06ngxzedp3/19:06

3/22:13dnglna`3/22:13

3/25:08dpxarde3/25:09

3/27:02ndlyi`k3/27:02

4/02:17dpgield4/02:17

4/04:30ddlrnee4/04:30

4/07:13pndgpnl4/07:13

4/08:26inanynx4/08:26

4/11:32`elkeld4/11:32

4/14:45iprayid4/14:45

4/17:17azlrdhn4/17:17

4/20:17nx`leyp4/20:17

4/22:41zalnrie4/22:41

4/26:30ipbcrl`4/26:30

4/29:10kdaniyy4/29:11

4/31:52ayrze`n4/31:52

4/34:11lendglr4/34:11

5/01:25y`xdedi5/01:25


